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Instructions : 1) All questions are compulsory.
2) Each question carries 2 marks.
3) Answers should be marked in the given OMR answer sheet by

darkening the appropriate option.
4) Use black ball point pen only for making the circle. Do not make any

stray mark on the OMR Answer Sheet.
5) Follow the instructions given on OMR Sheet.
6) Rough work shall be done on the sheet provided at the end of question

paper.
7) Only non -programmable calculators are allowed.

1) Law of diminishing marginal rate of substitution is associated with _______
A) Marshall B) Hicks
C) Slutsky D) Keynes
KQ>Vm gr‘m§V à{VñWmnZmMm Xa {Z¶‘ ............ er g§~§{YV Amho.
A) ‘me©b B) {h³g
C) ñëQ²>pñH$ D) Ho$Ýg

2) Expansion Phase of trade cycle starts when banks _______
A) Decreases credit facilities B) Stop Credit facilities
C) Increases credit facilities D) None of the above
ì¶mnma MH«$mMm {dñVma Q>ßnm Voìhm gwê$ hmoVmo Ooìhm ~±H$m ..............

A) nV gw{dYm H$‘r H$aVo B) nV gw{dYm Wm§~dVo

C) nV gww{dYm dmT>{dVo D) darb n¡H$s Zmhr
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3) Structural inflation will not be associated with _______
A) Fall in the agricultural export B) Rise in the cost of import substitutes
C) Deterioration of terms of trade D) Exchange rate devaluation
gaMZmË‘H$ ^mddmT> ............. er g§~§{YV AgV Zmhr.
A) H¥${f {Z¶m©VrVrb KQ> B) Am¶mV n¶m©¶r dñVyMr IM© dmT>
C) ì¶mnma eVu èhmg D) {d{Z‘¶ Xa Ad‘yë¶Z

4) A decrease in money supply leads to ________
A) Higher interest rates and Lower income level
B) Lower interest rate and higher income level
C) Higher interest rate and higher income level
D) Lower interest rate and lower income level
n¡emMm nwadR>m H$‘r Pmë¶mZo .............
A) Cƒ ì¶mO Xa Am{U H$‘r CËnÞ nmVir hmoVo
B) H$‘r ì¶mO Xa Am{U Cƒ CËnÞ nmVir
C) Cƒ ì¶mO Xa Am{U Cƒ CËnÞ nmVir
D) H$‘r ì¶mO Xa Am{U H$‘r CËnÞ nmVir

5) The acceleration principle applies only to ______
A) Output B) Replacement investment
C) Net investment D) Gross investment
àdoJ VÎd ’$º$ ............. bm bmJy hmoVo.
A) CËnmXZ B) ~Xbr J§wVdUyH$
C) {Zìdi J§wVdUyH$ D) EHw$U Jw§VdUyH$

6) Price rigidity is an unique feature of _________
A) Oligopoly market B) Monopolistic Competition market
C) Monopsony market D) Limit pricing market
qH$‘V VQ>ñWVm ho ............ Mo EH$ A{ÛVr¶ d¡{eîQ>ç Amho.
A) Aën{YH$mar ~mOma B) ‘ºo$Xmar¶wº$ ñnYm© ~mOma
C) ‘ºo$Xmar ~mOma D) ‘¶m©Xm {H$‘V ~mOma

7) According to Libenstein the 'Growth Agents' in the process of economic
development includes the _________
I) Entrepreneur II) Investor
III) Saver IV) Innovator
A) I and IV only B) II and III only
C) I and III only D) I, II and III only
{b~oÝñQ>mB©ZÀ¶m ‘Vo, Am{W©H$ {dH$mgmÀ¶m à{H«$¶oV "J«moW EO§Q²>g' ‘Ü¶o Imbrb Jmoï>tMm g‘mdoe hmoVmo.
I) CÚmoOH$ II) Jw§VdUyH$Xma
III) ~MVH$Vm© IV) g§emoYH$
A) I Am{U IV ’$º$ B) II Am{U III ’$º$
C) I Am{U III ’$º$ D) I, II Am{U III ’$º$
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8) Which of the following are the aims of WTO?
I) Promotion of free trade
II) Protection of IPRs
III) Promotion of resources flow across the countries
A) I only B) I and II only
C) I and III only D) I, II and III
WTO Mr C{Ôï>o Imbrbn¡H$s H$moUVr AmhoV?
I) ‘wº$ ì¶mnmambm àmoËgmhZ
II) IPR Mo g§ajU
III) gd© Xoem§V g§gmYZm§Mm àdmh
A) I ’$º$ B) I Am{U II ’$º$
C) I Am{U III ’$º$ D) I, II Am{U III

9) High power money is also called as ______
A) Base Money B) Narrow Money
C) Plastic Money D) Coin Money
Cƒ eº$sÀ¶m n¡embm .......... Agohr åhUVmV.
A) AmYma MbZ B) g§Hw${MV MbZ
C) ßb°pñQ>H$ MbZ D) ZmUr MbZ

10) The revealed preference theory is based on the assumption of _______
A) Strong ordering B) Weak ordering
C) Negative income elasticity D) Cardinal utility analysis
àH$Q> ng§Vr {gÕm§V ............. À¶m J¥hrVH$mda AmYm[aV Amho.
A) à~i H«$‘dmarVm B) Xþ~©b H«$‘dmarVm
C) ZH$mamË‘H$ CËnÞ bd{MH$Vm D) g§»¶mË‘H$ Cn¶mo{JVm {díbofU

11) Knife-edge problem arises in _______.
A) Solo model B) Harrod-Domar Model
C) John Robinson model D) Keldor model
MmHy$-Yma g‘ñ¶m .......... ‘Ü¶o CØdVo.
A) gmobmo à{V‘mZ B) h°am°S>-S>mo‘a à{V‘mZ
C) Om°Z am°{~ÝgZ à{V‘mZ D) Ho$ëXmoa à{V‘mZ
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12) India's second Five year plan was based on ______.
A) Mahalanobi's Model B) Harrod-Domar Model
C) John Robinson Model D) Keldor Model
^maVmMr Xþgar n§Mdm{f©H$ ¶moOZm ¶mda AmYm[aV hmoVr.
A) ‘hmbZmo~rg à{V‘mZ B) h°am°S> S>mo‘a-à{V‘mZ
C) Om°Z am°{~ÝgZ à{V‘mZ D) Ho$ëS>a à{V‘mZ

13) Primary deficit is ________
A) Fiscal deficit - capital receipt
B) Revenue expenditure - revenue receipt
C) Fiscal deficit - interest payment
D) Total expenditure - total receipt
àmW{‘H$ VyQ> ........... Amho.
A) {dÎmr¶ VyQ> - ^m§S>dbr O‘m B) ‘hgwbr IM© - ‘hgwbmMr O‘m
C) {dÎmr¶ VyQ> - ì¶mO XoUr D) EHy$U IM© - EHy$U O‘m

14) Arrange the following in order of their development.
I) Revealed Preference Theory II) Indifference curve analysis
III) Marginal Utility Analysis IV) Modern Utility analysis
A) II, III, I and IV B) III, II, I and IV
C) I, III, II and IV D) III, II, IV and I
Imbrb {gÕmÝV Ë¶m§À¶m {dH$mgm Zwgma H«$‘mZo ‘m§S>Ur H$am.
I) àH$Q> ng§Vr {gÕm§V II) g‘d¥Vr dH«$ {díbofU
III) gr‘mÝV Cn¶mo{JVm {díbofU IV) AmYw{ZH$ Cn¶mo{JVm {díbofU
A) II, III, I Am{U IV B) III, II, I Am{U IV
C) I, III, II Am{U IV D) III, II, IV Am{U I

15) Correlation analysis aims at:
I) establishing relation between two variables
II) predicting one variable for a given value of the other variable
III) measuring the extent of relation between two variables
A) I only B) II only
C) II and III D) I, II and III
ghg§~§Y {díbojUmMo CÔoe AmhoV.
I) XmoZ KQ>H$m‘Yrb g§~§Y àñWm{nV H$aUo
II) EH$m MbmMo ‘yë¶ ‘mhrV AgVmZm Xþga²¶m MbmÀ¶m ‘wë¶mMm A§XmO dV©{dUo
III) XmoZ MbmÀ¶m g§~§YmMr nmVir ‘moOUo
A) I ’$º$ B) II ’$º$
C) II Am{U III D) I, II Am{U III
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16) What are the limits of the two regression coefficients?
A) Must be positive
B) No limit
C) One positive and other negative
D) Either both positive or both negative
XmoZ à{VJ‘Z JwUm§H$m§À¶m ‘¶m©Xm H$m¶ AmhoV?
A) YZmË‘H$ AgUo Amdí¶H$ Amho
B) ‘¶m©Xm Zmhr
C) EH$ YZmË‘H$ Am{U BVa F$UmË‘H$
D) EH$Va XmoÝhr YZmË‘H$ qH$dm XmoÝhr F$UmË‘H$

17) For a distribution, the mean is 50, the median is 45.5 and the mode is 42 The
distribution is:
A) Negatively skewed. B) Normal
C) Positively skewed D) Mesokurtic
EH$m {dVaUmMo ‘mÜ¶ 50, ‘Ü¶Jm 45.5 Am{U ~hþbH$ 42 Amho Va Vo {dVaU .......... Agob.
A) F$UmË‘H$ Ag‘‘rV B) gm‘mÝ¶
C) YZmË‘H$ Ag‘‘rV D) ‘ogmoHw${V©H$

18) The mean of 20 values was 150 it was detected on rechecking that one value
165 was wrongly copied as 135 for the computation of the mean, then the
correct mean is
20 ‘yë¶m§Mr gamgar 150 hmoVr Vo nwÝhm VnmgVmZm AmT>ibo H$s EH$ ‘yë¶ 165 ho gamgarÀ¶m JUZogmR>r
135 åhUyZ MwH$sÀ¶m nÕVrZo H$m°nr Ho$bo Amho, Va ¶mo½¶ gamgar ............ Amho.
A) 161 B) 151
C) 141 D) 131

19) Which of the following is pure public goods?
A) Defense B) Roads
C) Postal service D) Education
Imbrbn¡H$s ewÕ gmd©O{ZH$ dñVy H$moUVr?
A) g§ajU B) añVo
C) S>mH$ godm D) {ejU

20) Principle of Exclusion is a characteristics of ________ goods.
A) Public B) Private
C) Merit D) Club
dO©U VËd ho ........... dñVwMo d¡{eîQ>ço Amho.
A) gmd©O{ZH$ B) ImOJr
C) JwUmË‘H$ D) g‘yh
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21) Fiscal policy is connected with _______
A) Export and Import
B) Issue of currency
C) Public Expenditure and Public Revenue
D) Corporate Finance
{dÎmr¶ YmoaU .......... er g§~§{YV Amho.
A) {Z¶m©V Am{U Am¶mV B) MbZ {Z{‘©Vr
C) gmd©O{ZH$ IM© Am{U gmd©O{ZH$ ‘hgyb D) H$m°nm}aoQ> ’$m¶ZmÝg

22) When the demand for money is completely interest inelastic the LM curve will
be ________
A) Vertical B) Horizontal
C) Relatively flat D) Relatively steep
Ooìhm n¡emMr ‘mJUr nyU©nUo ì¶mO Abd{MH$ Agob Voìhm LM dH«$ Agob .........
A) AZwb§~ B) j¡{VO g‘m§Va
C) VwbZoZo gnmQ> D) VwbZoZo C^r

23) The classical aggregate supply curve is a __________
A) Horizontal straight line B) Vertical straight line
C) Upward sloping D) Downward sloping
gZmVZr EHy$U nwadR>m dH«$ Amho ..............
A) j¡{VO gai aofm B) AZwb§~ gai aofm
C) D$Üd©Jm‘r CVma D) AYmo‘wIr CVma

24) The theory of 'Optimum Currency Area' was pioneered by ________
A) Fredric List B) Robert Mundell
C) Robert Lucas D) Robert Owen
"Am°pßQ>‘‘ H$aÝgr E[a¶m' hm {gÕm§V ........... ¶m§Zr ‘m§S>bm.
A) ’«o$S>[aH$ {bñQ> B) am°~Q>© ‘w§S>ob
C) am°~Q>© bwH$mg D) am°~Q>© AmodoZ

25) What is long form of GATT __________
A) General Agriculture Trade and Tariffs
B) General Association of Tariffs and Trade
C) General Agreement on Tariffs and Trade
D) General Administration of Trade and Tariffs
GATT Mo XrK© ê$n H$m¶ Amho ...........
A) gm‘mÝ¶ H¥$fr ì¶mnma Am{U Xa
B) ì¶mnma Am{U Xam§Mo gd©gmYmaU g§KQ>Z
C) àewëH$ Am{U ì¶mnma ¶mg§~§Yr gd©gmYmaU H$ama
D) ì¶mnma Am{U Xam§Mo gm‘mÝ¶ àemgZ
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26) According to Redman and Mory, research is a systematized effort to gain
_______ knowledge.
A) old B) new
C) past D) present
aoS>‘Z Am{U ‘moar ¶m§À¶m ‘Vo, g§emoYZ åhUOo kmZ ............, g§nmXZ H$aÊ¶mgmR>r {eñV~Õ à¶ËZ hmo¶.
A) OwZo B) ZdrZ
C) ŷVH$mbrZ D) dV©‘mZ

27) The research is classified into _______ types.
A) Analytical B) Descriptive
C) Applied D) All
g§emoYZmMo dJuH$aU ............ Ho$bo OmVo.
A) {díboeZmË‘H$ B) dU©ZmË‘H$
C) Cn¶mo{OV D) gd©

28) Research design includes _______ questions relating to research topic.
A) what B) where
C) how D) all
g§emoYZ AmamIS>çmV g§emoYZ {df¶m g§~{YV .............. àým§Mm g‘mdoe hmoVmo.
A) H$m¶ B) H$moR>o
C) H$go D) gd©

29) The research design may be divided into the _______ parts.
A) sampling desing B) statistical design
C) both (A) and (B) D) all
g§emoYZ AmamIS>çmMo ........... ^mJ/ KQ>H$ AgVmV.
A) Z‘wZm AmamIS>m B) gm§{IH$s AmamIS>m
C) XmoÝhr (A) Am{U (B) D) gd©

30) The research process includes _________ stages.
A) Formulating the research problem
B) Literature survey
C) Formulating the research hypothesis
D) All
g§emoYZ à{H«$¶oMo Q>ßno AmhoV.
A) g§emoYZ g‘ñ¶m R>adUo B) gm{hË¶ AmT>mdm
C) g§emoYZ J¥hrVH$ R>adUo D) gd©
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31) The components of a research problem are ________
A) individual or a group
B) objective (s) to be attained
C) means for obtaining the objectives
D) all
g§emoYZ g‘ñ¶oMo ......... KQ>H$ AgVmV.
A) ì¶º$s qH$dm JQ> B) gmÜ¶ H$aÊ¶mMr C{Ôï>o
C) C{Ôï>o gmÜ¶ H$aÊ¶mMr gmYZo D) gd©

32) The research questions are the questions to __________.
A) Analyse in research B) Describe Research problem
C) Both (A) and (B) D) None of these
g§emoYZ àý ho Ago àý AgVmV Á¶m§Mo ............ OmVo.
A) {díbofU H$aUo
B) g§emoYZ g‘ñ¶oMo dU©Z H$aUo
C) XmoÝhr (A) Am{U (B)
D) H$moUVohr Zmhr

33) A research proposal includes _______.
A) Review of research literature B) Statement of research problem
C) Research methodology D) All
g§emoYZ àñVmdmV ............... g‘mdoe AgVmo.
A) g§emoYZ gm{hË¶ AmT>mdm B) g§emoYZ g‘ñ¶m {dYmZ
C) g§emoYZ nÕVr D) gd©

34) The data required to carry out a research is ________.
A) Primary B) Secondary
C) Quantitative and Qualitative D) All
g§emoYZmgmR>r AmH$S>odmar .......... Amdí¶H$ AgVo.
A) àmW{‘H$ B) Xþæ¶‘
C) g§»¶mË‘H$ Am{U JwUmË‘H$ D) gd©

35) The salient feature of the primary data is ________
A) Afresh B) For the first time
C) Both (A) and (B) D) Only Qualitative
àmW{‘H$ AmH$S>odmar Mr R>iH$ d¡{eï>o åhUOo ..............
A) ZdrZ B) n{hë¶m§Xm
C) XmoÝhr (A) Am{U (B) D) ’$º$ JwUmË‘H$
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36) The qualities of a secondary data are __________.
A) Published B) Observation based
C) Statistically processed D) All
Xþæ¶‘ AmH$S>odmarMo JwUY‘© ........... AgVmV.
A) à{gÕ B) {ZarjU AmYmamV
C) gm§{IH$s à{H«$¶m Pmbobr D) gd©

37) The methods of collecting primary data includes ___________.
A) Observation B) Interview
C) Questionnaire D) All
àmW{‘H$ AmH$S>odmar Jmoim H$aÊ¶mÀ¶m nÕVrV .............. g‘mdoe hmoVmo.
A) {ZarjU B) ‘wbmIV
C) àýmdbr D) gd©

38) The major sources of secondary data are __________.
A) Publications of the central, state and local governments
B) Publications of foreign governments or of international bodies
C) Both (A) and (B)
D) Field Survey
Xþæ¶‘ AmH$S>odmar Jmoim H$aÊ¶mMo à‘wI ‘mJ© ............ AmhoV.
A) H|$Ð, amÁ¶ Am{U ñWm{ZH$ gaH$maH$Sy>Z à{gÕ
B) naH$s¶ gaH$ma Am{U Am§Vaamï>́r¶ g§ñWm H$Sy>Z à{gÕ
C) XmoÝhr (A) Am{U (B)
D) àmW{‘H$ gd}jU

39) The field survey is conducted for the collection of __________ data.
A) Primary B) Secondary
C) Past D)  None of these
>........... AmH$S>odmar Jmoim H$aÊ¶mgmR>r joÌr¶ gd}jU Ho$bo OmVo.
A) àmW{‘H$ B) Xþæ¶‘
C) ŷVH$mbrZ D) H$moUVohr Zmhr

40) The sample survey is preferred to census survey for data collection because _______
A) Less expensive B) Time saving
C) Both (A) and (B) D) Against saving
S>oQ>m g§H$bZmgmR>r g§nyU© gd}jUm nojm Z‘wZm gd}jU ng§V Ho$bo OmVo H$maU ...........
A) H$‘r I{M©H$ B) doi Imdy
C) XmoÝhr (A) Am{U (B) D) ~MV {damoYr



M/P ENT - 40

-10-

41) What abbreviation is used to mention more than four authors of a research
work to be cited?
CX²Y¥V Ho$boë¶m g§emoYZ H$m¶m©À¶m Mma nojm OmñV boIH$m§Mm C„oI H$aÊ¶mgmR>r H$moUVo g§jon dmnabo
OmVo?
A) at al. B) et all.
C) et al. D) ot all.

42) Parenthetical Referencing is also known as -
A) Foot Note Referencing B) In Text Referencing
C) Endnote Referencing D) Title Referencing
n°aoÝWo{Q>H$b ao’$apÝg̈J ¶mg ............. ZmdmZo XoIrb AmoiIbo OmVo -
A) ’y$Q> ZmoQ> g§X ©̂ B) ‘OHy$a ‘Ü¶o g§X ©̂
C) E§S>ZmoQ> g§X ©̂ D) erf©H$ g§X ©̂

43) MLA stands for -
A) Modern Language Association B) Modern Linguistic Association
C) Modern Logical Association D) Modern Law Association
MLA Mo XrK© ê$n H$m¶?
A) ‘m°S>Z© b±½doO Agmo{gEeZ B) ‘m°S>Z© qbJypñQ>H$ Agmo{gEeZ
C) ‘m°S>Z© bm°{OH$b Agmo{gEeZ D) ‘m°S>Z© bm° Agmo{gEeZ

44) ________ Research is based on the measure of quantity or amount.
A) Qualitative B) Descriptive
C) Quantitative D) None of these
............ g§emoYZ ho à‘mU qH$dm aH$‘oÀ¶m ‘moO‘mnmda AmYm[aV Amho.
A) JwUmË‘H$ B) dU©ZmË‘H$
C) n[a‘mUdmMH$ D) ¶mn¡H$s Zmhr

45) _______ Describes the current state of affairs as it exists without having
control over other variables.
A) Analytical Research B) Descriptive Research
C) Applied Research D) Distinctive Research
............... BVa Mbm§da {Z¶§ÌU Z R>odVm ApñVËdmV Agboë¶m gÚpñWVrMo dU©Z H$aVo.
A) {díbofUmË‘H$ g§emoYZ B) dU©ZmË‘H$ g§emoYZ
C) Cn¶mo{OV g§emoYZ D) {d{eï> g§emoYZ
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46) In the ________ research, the researcher has to use facts or information
already available.
A) Analytical B) Descriptive
C) Applied D) Distinctive
.......... g§emoYZmV g§emoYH$mbm AmYrnmgyZ CnbãY VÏ¶o qH$dm ‘m{hVr dmnamdr bmJVo.
A) {díbofUmË‘H$ B) dU©ZmË‘H$
C) Cn¶mo{OV D) {d{eï> g§emoYZ

47) ______ as a testable statement of a potential relationship between two or
more variables.
A) Research hypothesis B) Research experience
C) Research problem D) Research crisis
XmoZ qH$dm A{YH$ Mbm§‘Yrb g§̂ mì¶ g§~§YmMo MmMUr H$aÊ¶m¶mo½¶ {dYmZ åhUyZ ............
A) g§emoYZ J¥hrVH$ B) g§emoYZmMm AZŵ d
C) g§emoYZ g‘ñ¶m D) g§emoYZ g§H$Q>

48) Which of the following research focuses on enhancing the corpus of knowledge
in a given field?
A) Action Research B) Applied Research
C) Evaluative Research D) Fundamental Research
Imbrbn¡H$s H$moUVo g§emoYZ {Xboë¶m joÌmVrb kmZmMm g§M¶ dmT>{dÊ¶mda bj H|${ÐV H$aVo?
A) H¥$Vr g§emoYZ B) Cn¶mo{OV g§emoYZ
C) ‘yë¶m§H$ZmË‘H$ g§emoYZ D) ‘yb ŷV g§emoYZ

49) Research is related to _________
A) Discovery of new idea B) Solution of a problem
C) Investigation of a problem D) All of the above
g§emoYZ ho ......... er g§~§{YV Amho.
A) ZdrZ H$ënZoMm emoY B) g‘ñ¶oMo {ZamH$aU
C) g‘ñ¶oMr Mm¡H$er D) darb gd©

50) Data collected from a proxy source is called as ______.
A) Secondary data B) Primary Data
C) FGD D) None of these
àm°³gr ómoVmH$Sy>Z Jmoim Ho$boë¶m AmH$S>odmarbm ................ åhUVmV.
A) Xþæ¶‘ AmH$S>odmar B) àmW{‘H$ AmH$S>odmar
C) E’$OrS>r D) ¶mn¡H$s Zmhr


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